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. Answer all the questions on this paper itself. Each question carries 02 marks.

| 01) General term of the number pattern 5, 10, 15, 20, ....., is 5n.
Which term of it is 60?

(02) A={Multiplesof 5 between 3 and 23}
(1) Write the elements of A.
(11) Write n (A)

(03) ISab_ . = 3x5xaxb Find the highest common factor of
122’6 = 2x2x3xaxaxb . . 15ab, 122’ and 9ab’.
9ab’ = 3x3xaxbxbxb

HCF

(04) T 9 T r.: &—T—7T>

543 2.0 01 2 3 4 5
Express the mequahty shown in the number line asanalgebraic inequality.

*| ©) " Find the perimeter of the quadrilateral ABCD.

~ Write suitable value for the blank boxes.
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(07) Findthe magnitude of AOB.

Jo8) Simplify. & <hd

(09) There are 4 red pens 7 biue pens and 9 black pens of same type When a pen is taken |-
randomly, find the probablhty of it being a blue pen.

(10) Whenthe time in (-3) time zone is 20 : 15 on Sunday,
(i) Whatisthe Greenwich time? ' o
(if) Atthatmoment,in which time zone does the time becomes 03 : 15 on Monday?

. From the following, which statement N
indicates thelocation of P,fromAand B
respectively?

Selectand underline. We 7 E
FromA . . FromB
@ E30'S and W20'S

(@) Seé0"E and S70"° W
(ili) S30°E and S 20°W
(1v) N30 S and S70N

Accordmg to_the ratio 1: 50 000, what is the actual length represented by 6cm in
kilometers?

F111 inthe blanks using suitable words. The center ofcircle is O.
() Theshadedregioniscalledasa........owurrnne -

(i) Ttiscovered withan@icind two

(14) 8% ofa céftain amauntis Rs. 3200, How much is the fotal amount?
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(15) 900 = 36 x 25. Obtainthe valueof . ¥ 900.

(16) 27t 434kg + 11 Simplity.

(17) Underline the correctanswer,

Number of axes 6f symmetry inan equilateral triangle. 1
®0 . G)2 (iii) 3 ()5S

Order of rotational symmetry in a square. L
- (0)2 ()4 (i) 6 ()8

(8) Findthevalue. 1 - = 7

(i9) Plotthélines y=2 ad x<-3 onthe given
Cartesian plane. -

(20) Draw two figures that can be used to make a regular tessellation.

HY
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© PART-II
* Answer the first question and another 04 questions only.
* First question carries 16 marks and other questlous carry 11 marks each

(o1) Recc")llect the activity that you have done on platomc
. thelesson solids, with the assistance of your teacher

platonic solids. Write another two examples for platonic solids.
(i) Draw anetofa piatonic solid- you have mentloned above, .

(111) Write down the number of edges vertices and faces of the platomc solid,
“in which the netisdrawn.” |

(1V) How many platonic solids are there? .

(v) Write down the Euler's relationship for a solid by considering the number of faces,-
vertices and edges ofit. |

(vi) By coniiﬁé’ﬁﬁg‘the prism shown in the ﬁgure

111 “‘if 13*3

‘write down the niimber of edges,

vertices and faees it has. Show that the
.,.above.\zalues..satisfy the Euler's

relationship. .

(vii)In another solid the number of vertices and the number of faces are 1 leach:
How many edges are there init?

1 02) The distance travel by the teachers who are workmg ata vﬂlage school WI?FH ﬂ;ey amve
to the school daily is glven below to the nearest kllometer ’

4,8,3,5,12,17,15, 11 13282420262928323730464741435853

@)- 4Repre§ent~the~abm{e information ma stemand leaf dlagram.

(i) Howmany tmchefs were petticipate’d for this survey.

(iii) What s the dlstance travels by the teacher who comes from the farthest
place" _

(iv) What isthe d1$tance travels by the teacher who comes from the nearest
place?

(v) What is the range of the distance travel by the teachers?

(vi) From the groups0-9,10-19,20-29,30 -39,40-49, 50 - 59, which group
represents the distance travel by most number of teachers?

m‘?}%‘a‘s‘é am} EW?‘*@% Telﬁtiorggghﬁmg

(i) Regular Octahedron, regular dodecahedron, regular 1cosahedron are exampleé for‘
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W3 (i) 512 x 14 = 7168  Using the above information. find the value of following
expressions.

(a) 5.12x14
(b) 0.512x0.14
© 12x140

31
(d) 1 1_6
S1

(i) Findthevalue. 6.578 x 100 - i‘%

(iii) Magnitude of the angle ABC is 35°.
i A

(a) Findthecomplimentof ABC.

(b) Findthe supplements of A’]\3C .

(04) Aconfectioner makes a mixture using cashew and murukku to the ratio 1 : 1 and murukku
and dhal totheratio 2 : 1.

(1) Expressthe ratio between cashew, murukku and dhal in the mixture in
simplest form.

(i) Howmany kilogramsof murukku are there in Skgofthe mixture?

(iii) How many kilograms of cashew should be mixed with 4kg of dhal?

(iv) When the mass of dhal in the mixture is 4kg, what s the mass of the
total mmture’?

(v) Ranjansays thatthe percentage ofthe murukku in the mixture is 371 ; %.
Do you agree with his statement?

Give reasons.

(05) Using the straightedge and the pair of compasses do the following constructions, °
(i) Constructastraightline AB= 10cm.
(if) Mark the pointC, such that AC=3§cm andBC=6cm.
(iii) Complete the triangle ABC.
(iv) Measure and write the magnitude otACB
(v) According to the magnitudes of the angles, what type of a triangle is ABC?
(vi) Calculate the area of the triangle ABC.
(vii)If the perpendicular height from C to the base AB is h, find the value ofh.

" Gride 08 - mattis - Weatern Proviibg:
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(06) (i) Simplify. 6a-4b-2a+5b+a
(ii) Ifa=5 andb=3. findthe valueof 6a-4b-2a+5b+a
(iii) Remove the brackets and simplify. 3 (3p+2q - 4r)+2 (p-3q+6r)

(iv) Express the power of a product (Ax a)’ asa productof powers.

(07) (a) Priceofabookis b rupeesand fhe priceofapenisRs. 17,

(i) Build upanalgebraic expression for the total price of 5 books and 3 pens.

(i) Rs1255 wasspentto prepare 5 parcels with 5 booksand 3 pensineach.
Form an equation and find the price of a book.

(b) Length" breadth and height of a cuboid are 30cm, 25¢m, 4 cm respectively. Volume
of itis 15 000cm’.

() TFindtheheight"A" of the cuboid.

(i) Thiscuboidis filled with water, using a cup of capacity 300m/.

How many cups of water should be poured to fill the cuboid
completely?
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s5n=60 (1) | B
a=12 (1) ’ poo- = 6xs 8;

() A={5,10,15,20} (1) )
(i) n(A) =4 (1)

2t 494kg or 2494 kg

(@3 ()
®a4. (1

u_ 3
, TR T
Perimeter =7+ 7 + 5+ 5cm(1) 8 1\

=24c¢m (1) 1(1)
2 {5 1=-[53]
x+x+23+x+37=360° (1)
_ x=100° (1)
100 . 100
11 9 M
9 ..
i
7 (1)
20 (1)
Gy 23:15(1)
(ii) +4 time zone (1)

S 60° E and S 70° W

6cm — 50 000cm x 6 (1)
—» 300 000cm
— 3km m

(i) Sector 1)
(i) Radius 1)

Any two figures
1%——» 400 1)

total amount Rs.40 000 (1)
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o1 @ Regular tetrahedron (1)
Cube ¢))
E+-

Q) 1l

t {1

Loy )
-+

i

. "_+_ K '

(i) edges =12 edges =6
Vertices=8  Vertices =4
Faces =6 Faces =4

(iv) $ piatonic soiids

-(v) No of faces + No of vertices =
No of edges +2 '

(vi) Noofedges+2=9+2=11 (1)
No of faces + No of vertices
‘ =6+5=11(i)
No of edges + 2 = No of faces +
No of Vertices

(vli) 11+ 11 = No of edges +2 (1)
No of edges =20 (1)

PART - II
—0

(1)—@_
—0

(04) (i) Cashew: Murukku : dhal
1 1 ¢))
2 L)
- 2 2 1 Q

(i) 2kg
(ili) 8kg -
(iv) 20kg
(v) yes (1)

§x 100% =40% (1)

16

(05) (i) Constructing AB
(i) Marking C
({ii) Compieting the triangle
@v) AéB=90"
W) right angie triangle
“(vi) 2l X 6 x 8cm’ (1)
=24em’ (1) ‘
(vii)%x 10xh=24 )]
h=4.8cm (1)

02) (@)

Stem
0

24

58km

3km
58-3 (1)
55km (1)
20-29

(06) (i) Sa+b

@) 5x5+3(1)
25+3 (1)
28 m
or |
6x5-4x3-2x5+5x3+5(1) -,
30-12-10+15+5(1) '
__@ :

40-12 -
28 (1)

(ifi) ap +6q- 12r +2p - 6q + 12r(1)
11p (2)

(iv) A'x@

ramn——

(A 5.12xi.4=7.168 (1)

(b) - 0.512x0.14 = 0.07168(2)
(c) 512x140=71680 (1)

() 7L68x1000 (;
-~ 0.512x 1000
140 (1)
(i) 657:8 - 4974 = 160.4
(N M M

(i)

—Q®
@ 551 © 4 —©@

1

—@
5h + 51
) (1) () —0
(i) 5(5b+51) = 1255 (1)
sb+51 =251 (1)

56 =200 (1) -
b =40 (1)

07 (@ O

or
5(5b +51) = 1255 m
256 +255 = 1255(1)
25b =1000(1)
b =40 (N—0@ -
30% 25 x h= 15000(1)
h=20em ()—@

®

(i)

0 | o
300mi (1 |
0 (r;l)l ____@ ll_
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